BIC

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

10%

2x10° 5%x10°

10

10 100

1

10*

1000

rm843 2/(411886 4972) 0.901

— T T T ' T T T T T T T T T L

i ' BIC 430764 34 ABIC 0. OOO AIogP 0.0000 ]

- : x 366483.84 Ax 0.000 AlogP 0.0000 A
I - . _ ] BIC
i Lo 1,
I ' | X

| ABIC —59370 |

Ax? —59370
4972 4972
A ACq
L L L L | L L L L | L L L L | L L L L | L L L L | L L L L |
10 20 30 40 50 60
60 iterations

rm843 2/(411886 4972) 0.901

E™ +~ ' +~ T - T T T T T T T T T T T T — 1

F BIC 430764 34 ABIC 0. OOO AIogP 0.0000 7

S % 366483.84 Ax 0.000 "AlogP "0.0000 3

= 4972 4972 3

L S Y A

E vy |— N N T

10 20 30 40 50 60

60 iterations

Fe2 20% 138+192 km/s

rm843 BLR 5270 NLR 900 km/s

F~ - - 1 - T T T 1 T T T T 1T r ' T T 1 T T T T T T T T T T
E - _4BLR
NLR
Fell

60 iterations

kdh1 12-0ct-2021 04:02



